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Find the area between the parabolas y? =4x and x* =4y with the help of

Green’s theorem in a plane.
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Sub: | Engincering Maths-IIl  Code:  ISMATSL
Date: | 18/ 51/2016 Duration: ;5‘0 mins hax Marks: ﬂ!} ¢ Sem: 3 ' Branch: E?:;']?A,B '
NOTE: First question is compulsory. Answer any six questions from therest,. |
M) a - 5k
Marks o5 TRBT |
I Derive Euler’s equation in standard form. (8] E_"i_'ﬂ'ﬁrﬂih_L?E
2 Apply Lagrange’s formula inversely to find a root of the equation [7] |€O3 | L3
f(x)=0 given that £(30) =30, /(34)=-13, f(38) = 3, f(42)=18. | |
3 Find y(1.4) by Newton’s forward interpolation formula from the given [7] CG_‘I]J_
data :
X e 3 4 | 5 .
y | 10 | 26 58 112 | 194 ‘
_.._.._!._. - -I
4 Find the correlation coefficient and the equation of lines of regression [7] | CO6 L3 |
from the given data.
i L
[ x 1 2 3 4 5 | |
U NN N Y T T 2 -
> Fit a straight linc of the form y = ax + #for the following data. [7] {CO3' L3
X 5 10 15 20 25 S
j y | 16 | 19 | 23 26 30 ; :
6 TFind the negative root of the equation x’-4x+9=0 by Regula Falsi [7] |CO3} L3 |
method Carry out two iterations. - ' :
i o _ , CO3| L3 |
7  Evaluate _[ = by Weddle’s rule taking seven ordinates and hence find [7] ; ;
s litx | :
log,2 N
8 [71 [CO3 [
|
e



: TR o2
Course Qutcomes = 8 § & ] e R 2.5 85
B PR G e BB 3 0, .
| " Evaluate the real form of the Fourier series for standard | "im'i 1T 7T 10 T 1 | L
' periodic and a periodic waveforms which has its applications | | I | | | -
€O1: | in finding out the sum of infinite series using Dirichlet’s I | 008 R0 0 00 G DL 00 A0
| conditions. || A L i
"1 Apply integral expressions for the forward and inverse Fourier iy T .
:  transform to a range of non-periodic waveforms such as i B L ;
Co3: . rectangular, unit-step, sinusoidal and exponential decay [ 3 i 0 | 0.0 ' alolo | 01 | 0i0:0
_ | functions and to solve second order difference equationsusingZ |~ | | | | | | 1] L ;
. | transform and inverse Z transform | | i I R :
‘ - - = O L
P Ap“‘}r_ﬁﬁ'mari;:-al_tér;]ﬁnqm.s to iﬁ%}fom\ various nathematical ! : : Pl
coa: | T.ask suchlas solving equations, interpolation, integration and 3ip'oioi0; sioitioie o
. curve fitting %] i ; i
. T p— H N D O SO O O O SO . OO0
| Solve Brachistochrone, shortest distance, minimal surface ' i i | RN o f
Co4. | area and hanging chain problems and to find the geodesics of | Lo | oloio g olo o | 6i0 0
known surfaces using Euler-Lagrange method. p ol ]
] Evaluata line and surface integrals using Green's, Stoke’sand © ____; L
L COs: Gauss d_wergence theorems which have its application in 3010 00 ‘ole . 0lolo. 0
. computing the amount of work done, area and volume. | i: | | | I. | I ‘ |
| . I Iy AL e
Estimate the strength of the relationship between the variables | | I i | ! Co 3
o L - + . " H 3 | | .
cog: | USINg mrrciatmn Eﬂ?fﬁﬂ]'?:]‘lts and to exXpress the relationshipin = | ; ' 5 5 ¢ ioloiiloio o
the form if an equation using regression. ! P Pl

e e

Cognitive level

KEYWORDS

: L1 I..asL, de:ﬁm: tell, describe, 1dent1ﬁr shnw._. label, collect, examme, tabulate, , quote, name, who, whcn, where, etc.
L2 summarize, describe, interpret, contrast, predict, associate, d:stmgu1_af:__est|matt d:f‘t"eq‘annaxe, dlscuss, tx[&nd
- Apply. demonstrate, calculate, complete, illustraté, show, solve, examine, modify, relate, change, classify,
. | experiment, discover. R - -
| L4 Analyze, separate, an:lar explam cunnect, class;fy. arrange, chvtde, mmpam select, explam infer.
' L5 ' Assess, decide, rank, grade, test, measure, recormmend, convince, select, judge, explain, discriminate, support,
L _ conclude, compare, summarize. o
POl - Engineering knowledge; PO2 - Froblem analysis;, P03 - Designidevelopment of  solutions,

P04 - Conduct invesiigations of complex problems; POS - Modern tool usage; POG - The Engincer and socieny PO7-

Environmen!

and

sustainabiliry,

PO8

Ethics;

P09

Individual

POI0 - Communication; PO - Project management and finance; PO12 - Life-long learning
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